On Coefficient Bounds of Certain Close-To-Convex Functions with Negative Coefficients Using the Modified Salagean Differential Operator

E.C. Godwin¹ and E.E. Onugha²

Department of Mathematics, Federal University of Technology Owerri, Imo State, Nigeria.

Abstract

In this paper, we establish the coefficient bounds of a class of close-toconvex functions with negative coefficients using a modified Salagean differential operator.

Keywords: Univalent functions, Starlike functions, close-to-convex functions, coefficient bounds, Modified Salagean operator.

1.0 Introduction

Let A denote the class of functions analytic in the unit disk $U = \{z : |z| < 1\}$ and of the form $A := \{f \in H(u) : f(0) = f'(0) - 1 = 0\}$ where H(u) is the set of functions which are analytic in the unit disk $S := \{f \in A : univalent\}.$

We present the definitions of well-known classes of starlike, convex, close-to-convex functions.

$$S^* := \left\{ f \in S : \operatorname{Re} \frac{zf'(z)}{f(z)} > \alpha, \ z \in U \right\}, \ \alpha \in [0,1],$$

$$S^c := \left\{ f \in S : \operatorname{Re} \frac{1 + zf'(z)}{f'(z)} > \alpha, \ z \in U \right\}, \ \alpha \in [0,1],$$

$$CC := \left\{ f \in S : \exists \ g \in S^*, \ \mathfrak{s} \ \operatorname{Re} \frac{zf'(z)}{g(z)} > 0, \ z \in U \right\},$$

$$M_\alpha := \left\{ f \in S : \operatorname{Re} \left[(1 - \alpha) \frac{zf'(z)}{f(z)} + \alpha \left(\frac{1 + zf''(z)}{f'(z)} \right) \right] > 0, \ z \in U \right\}, \ \alpha \in R$$

The classes S^*, S^c, CC and M_{α} are known as star like, convex, close-to-convex and α -convex functions respectively. In [1], it was conjectured that if $f \in S$, then the coefficients a_n of f satisfies $|a_n| \le 2$. That is,

$$f \in S, \ f(z) = z + \sum_{j=2}^{\infty} a_n z^n \rightarrow |a_2| \le 2$$

$$|a_n| \le n, \ n \in N, \ n \ge 2$$

$$K(z) = \frac{z}{(1-z)^2}, \ z \in U$$
(1)

Proof: See [2]. Definition 1. [3] We define the operator $D^n: A \to A, n \in N = \{0,1,2,...\}$ by

- (a) $D^0 f(z) = f(z);$
- (b) $D^{1}f(z) = Df(z) = zf'(z);$
- (c) $D^n f(z) = D(D^{n-1}f(z)) = z(D^{n-1}f(z))', z \in U, n \ge 1.$

The operator D^n is named the Salagean differential operator. We note that if $f \in A$ is a function of the form $f(z) = z - \sum_{i=2}^{\infty} a_i z^i, \ z \in U$ (2)

 $\sum_{j=2}^{j}$

Correspondence Author: Godwin E.C., Email: emmysworld05@yahoo.com, Tel: +2348065506033

Transactions of the Nigerian Association of Mathematical Physics Volume 4, (July, 2017), 15-18

Godwin and Onugha

Trans. of NAMP

And $n \in N$, then

$$D^n f(z) = z - \sum_{j=2}^{\infty} j^n a_j z^j, \ z \in U.$$

Definition 2. [4]
The operator $D^n_{\lambda} : A \to A, \ n \in N, \ \lambda \ge 0$ is defined by

(a)
$$D^0_{\lambda}f(z) = f(z)$$

(b)
$$D_{\lambda}^{1}f(z) = (1-\lambda)f(z) + \lambda z f'(z) = D_{\lambda}f(z)$$

(c)
$$D_{\lambda}^{n}f(z) = D_{\lambda}\left(D_{\lambda}^{n-1}f(z)\right), \quad z \in U.$$

If $f \in A$ has the form (2), then

$$D_{\lambda}^{\beta}f(z) = z - \sum_{j=2}^{\infty} \left[1 + (j-1)\lambda \right]^{\beta} a_{j} z^{j}$$
(3)

(3) is known as the Al-Oboudi differential operator.

2. Statement of Problem and Proofs

[5] Let $f \in T$, $f(z) = z - \sum_{j=2}^{\infty} a_j z^j$, $a_j \ge 0$, $j \ge 2$, $z \in U$ and $g(z) \in TL_{\beta}(\alpha)$. We say that f is in the class $CCTL_{\beta}(\alpha)$ if $\operatorname{Re} \frac{D_{\lambda}^{\beta+1} f(z)}{D_{\lambda}^{\beta} g(z)} > \alpha$. $\alpha \in [0,1)$, $\lambda \ge 0$, $\beta \ge 0$, $z \in U$.

Theorem 2.1. Suppose $\lambda \ge 0$, $\beta \ge 0$, $f \in T$ belongs to the class $CCTL_{\beta}$ with respect to the function $g(z) \in TL_{\beta}$ if

$$\sum_{j=2}^{\infty} \left[1 + (j-1)\lambda \right]^{\beta} \left[b_{j} - (1 + (j-1)\lambda)a_{j} \right] < 1$$
(4)

Proof: Let $f \in CCTL_{\beta}$, $f(z) = z - \sum_{j=2}^{\infty} a_j z^j$, $a_j \ge 0$, $j \ge 2$, with respect to the function

$$g(z) = z - \sum_{j=2}^{\infty} b_j z^j \in TL_{\beta}, \ b_j \ge 0, \ j \ge 2, \ \lambda \ge 0 \text{ and } \beta \ge 0 \text{ .we have that } \operatorname{Re}\left\{\frac{D_{\lambda}^{\beta+1}f(z)}{g(z)}\right\} > 0.$$

It is left to show that $\left|\frac{D_{\lambda}^{\beta+1}f(z)}{D_{\lambda}^{\beta}g(z)} - 1\right| < 1$
$$= \left|\frac{z - \sum_{j=2}^{\infty} [1 + (j-1)\lambda]^{\beta+1}a_j z^j}{z - \sum_{j=2}^{\infty} [1 + (j-1)\lambda]^{\beta}b_j z^j} - 1\right|$$

$$\leq \frac{\sum_{j=2}^{\infty} \left| \left[1 + (j-1)\lambda \right]^{\beta} \left[b_{j} - \left(1 + (j-1)\lambda \right) a_{j} \right] \left| z \right|^{j-1}}{1 - \sum_{j=2}^{\infty} \left| \left[1 + (j-1)\lambda \right]^{\beta} \left\| b_{j} \right\| z \right|^{j-1}}$$

Along the real axis, letting $z \rightarrow 1^-$, we have

$$\leq \frac{\sum_{j=2}^{\infty} \left| \left[1 + (j-1)\lambda \right]^{\beta} \left[b_{j} - \left(1 + (j-1)\lambda \right) a_{j} \right] \right|}{1 - \sum_{j=2}^{\infty} \left| \left[1 + (j-1)\lambda \right]^{\beta} \right\| b_{j} \right|}$$

By hypothesis,

Transactions of the Nigerian Association of Mathematical Physics Volume 4, (July, 2017), 15-18

(5)

Godwin and Onugha

Trans. of NAMP

$$\left|\frac{D_{\lambda}^{\beta+1}f(z)}{D_{\lambda}^{\beta}g(z)}-1\right| < \frac{1}{1-\sum_{j=2}^{\infty}\left|\left[1+(j-1)\lambda\right]^{\beta}\right|\left|b_{j}\right|} < 1$$

Corollary 2.1. Let $\lambda \ge 0$, $\beta \ge 0$, $f \in T$ belongs to the class $CCTL_{\beta}$ with respect to the function $g(z) \in TL_{\beta}$; then

$$\left|a_{j}\right| < \frac{2\sum_{j=2}^{\infty} \left[1 + (j-1)\lambda\right]^{\beta} \left|b_{j}\right| - 1}{\sum_{j=2}^{\infty} \left[1 + (j-1)\lambda\right]^{\beta+1}}$$

Corollary 2.2. Let $\lambda \ge 0$, $\beta \ge 0$, $f \in T$ belongs to the class $CCTL_{\beta}$ with respect to the function $g(z) \in TL_{\beta}$, then

$$\left| b_j \right| < \frac{1 + \sum_{j=2}^{\infty} \left[1 + (j-1)\lambda \right]^{\beta+1} \left| a_j \right|}{2 \sum_{j=2}^{\infty} \left[1 + (j-1)\lambda \right]^{\beta}}$$

Theorem 2.2. Let $\lambda \ge 0$, $\beta \ge 0$, $\alpha \in [0,1)$, then the function $f \in T$ belongs to the class $CCTL_{\beta}(\alpha)$ with respect to the function $g(z) \in TL_{\beta}(\alpha)$ if

$$\frac{\sum_{j=2}^{\infty} \left[1 + (j-1)\lambda \right]^{\beta} \left[(1-\alpha)b_{j} - \left(1 + (j-1)\lambda \right)a_{j} + \alpha \right]}{\left| 1 - \sum_{j=2}^{\infty} \left[1 + (j-1)\lambda \right]^{\beta}b_{j} \right|} < 1 - \alpha$$
(6)

Corollary 2.3. Let $\lambda \ge 0$, $\beta \ge 0$, $\alpha \in [0,1)$, then the function $f \in T$ belongs to the class $CCTL_{\beta}(\alpha)$ with respect to the function $g(z) \in TL_{\beta}(\alpha)$ if

$$|a_{j}| < \frac{(2-\alpha)\sum_{j=2}^{\infty} [1+(j-1)\lambda]^{\beta} |b_{j}| + \alpha \sum_{j=2}^{\infty} [1+(j-1)\lambda]^{\beta} - 1}{\sum_{j=2}^{\infty} [1+(j-1)\lambda]^{\beta+1}}$$

Proof: From (6),

Since
$$\left|1 - \sum_{j=2}^{\infty} [1 + (j-1)\lambda]^{\beta} b_{j}\right| > 0$$
, then

$$\Rightarrow \sum_{j=2}^{\infty} (\infty 1 + (j-1)\lambda)^{\beta} [(1-\alpha)b_{j} - (1 + (j-1)\lambda)a_{j} + \alpha] < 1 - \sum_{j=2}^{\infty} [1 + (j-1)\lambda]^{\beta} b_{j}$$

$$\Rightarrow \sum_{j=2}^{\infty} (1 + (j-1)\lambda)^{\beta} (1-\alpha) |b_{j}| - \sum_{j=2}^{\infty} [1 + (j-1)\lambda]^{\beta+1} |a_{j}| + \alpha \sum_{j=2}^{\infty} (1 + (j-1)\lambda)^{\beta} < 1 - \sum_{j=2}^{\infty} [1 + (j-1)\lambda]^{\beta} |b_{j}|$$

$$\Rightarrow -\sum_{j=2}^{\infty} [1 + (j-1)\lambda]^{\beta+1} |a_{j}| < 1 - (2-\alpha) \sum_{j=2}^{\infty} [1 + (j-1)\lambda]^{\beta} |b_{j}| - \alpha \sum_{j=2}^{\infty} [1 + (j-1)\lambda]^{\beta}$$

$$\left|a_{j}\right| < \frac{(2-\alpha)\sum_{j=2}^{\infty} \left[1+(j-1)\lambda\right]^{\beta} \left|b_{j}\right| + \alpha \sum_{j=2}^{\infty} \left[1+(j-1)\lambda\right]^{\beta} - 1}{\sum_{j=2}^{\infty} \left[1+(j-1)\lambda\right]^{\beta+1}}$$

Corollary 2.4. Let $\lambda \ge 0$, $\beta \ge 0$, $0 \ge \alpha < 1$, then the function $f \in T$ belongs to the class $CCTL_{\beta}(\alpha)$ with respect to the function $g(z) \in TL_{\beta}(\alpha)$ then

$$\left| b_j \right| < \frac{1 + \sum_{j=2}^{\infty} \left[1 + (j-1)\lambda \right]^{\beta+1} \left| a_j \right| - \alpha \sum_{j=2}^{\infty} \left[1 + (j-1)\lambda \right]^{\beta}}{(2-\alpha) \sum_{j=2}^{\infty} \left[1 + (j-1)\lambda \right]^{\beta}}$$

Transactions of the Nigerian Association of Mathematical Physics Volume 4, (July, 2017), 15-18

Proof: From (6)

$$\begin{split} &\text{Since } \left| 1 - \sum_{j=2}^{\infty} \left[1 + (j-1)\lambda \right]^{\beta} b_{j} \right| > 0, \text{then} \\ &\Rightarrow \sum_{j=2}^{\infty} \left(1 + (j-1)\lambda \right)^{\beta} \left[(1-\alpha)b_{j} - (1 + (j-1)\lambda)a_{j} + \alpha \right] < 1 - \sum_{j=2}^{\infty} \left[1 + (j-1)\lambda \right]^{\beta} b_{j} \\ &\Rightarrow (1-\alpha) \sum_{j=2}^{\infty} \left(1 + (j-1)\lambda \right)^{\beta} \left| b_{j} \right| - \sum_{j=2}^{\infty} \left(1 + (j-1)\lambda \right)^{\beta+1} \left| a_{j} \right| + \alpha \sum_{j=2}^{\infty} \left[1 + (j-1)\lambda \right]^{\beta} < 1 - \sum_{j=2}^{\infty} \left[1 + (j-1)\lambda \right]^{\beta} \left| b_{j} \right| \\ &\Rightarrow (1-\alpha) \sum_{j=2}^{\infty} \left[1 + (j-1)\lambda \right]^{\beta} \left| b_{j} \right| + \sum_{j=2}^{\infty} \left[1 + (j-1)\lambda \right]^{\beta} \left| b_{j} \right| < 1 + \sum_{j=2}^{\infty} \left(1 + (j-1)\lambda \right)^{\beta+1} \left| a_{j} \right| - \alpha \sum_{j=2}^{\infty} \left[1 + (j-1)\lambda \right]^{\beta} \\ &\qquad \left| b_{j} \right| < \frac{1 + \sum_{j=2}^{\infty} \left(1 + (j-1)\lambda \right)^{\beta+1} \left| a_{j} \right| - \alpha \sum_{j=2}^{\infty} \left[1 + (j-1)\lambda \right]^{\beta} \\ &\qquad \left| (2-\alpha) \sum_{j=2}^{\infty} \left[1 + (j-1)\lambda \right]^{\beta} \right| \end{split}$$

Remark: When $\alpha = 0$, we get the same result as obtained in corollary 2.1 and 2.2 respectively. Corollary 4.5. Using Theorem 2.2, when $g(z) \equiv f(z)$ we have

$$\left|a_{j}\right| < \frac{1 - \alpha \sum_{j=2}^{\infty} \left[1 + (j-1)\lambda\right]^{\beta}}{\sum_{j=2}^{\infty} \left[1 + (j-1)\lambda\right]^{\beta} \left[(2-\alpha) - (1 + (j-1)\lambda)\right]}$$

3.0 Results and Conclusion

this work, we discussed the coefficient bounds for certain analytic functions such In as $TL_{\beta}(\alpha)$, $SL_{\beta}(\alpha)$, $CCSL_{\beta}$, $CCTL_{\beta}$, $CCSL_{\beta}(\alpha)$ and $CCTL_{\beta}(\alpha)$. These classes generalized the concepts of functions with positive and negative coefficients. We extended the work as in [5] by introducing the class $CCSL_{a}$ and $CCTL_{a}$. Our study of these classes of functions has thus exposed us to a number of very interesting properties of these classes of functions.

References

- [1] Bieberbach, L. (1916): "Uber die Koeffizienten derjenigen Potenzreihen, welche eine schlichte Abbildung des Einheitskreises vermitteln", Sitzungsber. Preuss. Akad. Wiss. Phys-Math. Kl.: 940-955.
- [2] De Branges L. (1985): A proof of the Bieberbach Conjecture. Acta Math; 154:137-152.
- [3] Salagean G.S. (2015): Operators on classes of analytic or harmonic functions. Babes-Bolyai University of Cluj-Napoca, Romania, OHRID.
- [4] Al-Oboudi, F.M.(2004). On univalent functions defined by a generalized Salagean operator, Int. J. Maths. Math. Sci., no 25-28, 1429-1436.
- [5] Acu M. and Dorca I. (2007): On some close-to-convex functions with negative coefficients. Filomat 21:2, 121-131.
- [6] Clunie J. and Pommerenke C. (1966): On the coefficients of close-to-convex univalent functions. J. London Math. Soc., 41:161-165.
- [7] Goodman A.W. (1979): An invitation to the study of Univalent and Multivalent functions. Internat. J. Math. & Math. Sci. Vol. 2 No. 2:163-186.